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QUESTION 1

Which three are used for creating LUNs on a storage system? (Choose three.)
A. lun create

B. lun setup

C. lun config

D. FilerView

Correct Answer: ABD

QUESTION 2

Which command allows you to set the permissions for a share called marketing?
A. cifs share -add marketing /vol/marketing

B. cifs permissions -change marketing /vol/marketing

C. cifs shares -permissions marketing /vol/marketing

D. cifs access marketing /vol/marketing

Correct Answer: D

QUESTION 3

What are 3 true statements about physical reallocation of data added in ONTAP 7.3? (Choose three.)

A. Volume Snapshots do not need to be deleted for the reallocate to run effectively

B. Reinitialize any SnapMirror relationship for the new physical geometry

C. Dont run it on files, volumes, and LUNs that are in an aggregate created by a version of ONTAP earlier than 7.2
D. Use aggr reallocate -p pathname to run the physical reallocate

E. Use reallocate -p pathname to run the physical reallocate

Correct Answer: ACE

QUESTION 4

There are 16 SAS disks available for creating the aggregate; you use 14 disks to create a RAID DP aggregate. The
RAID group size is 8 disks in a raid group.
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Which statement is TRUE?

A. You create 1 raid group of 16 disks.

B. You create 2 raid groups of 6 disks each.

C. You create 2 RAID groups one containing 8 disks and other containing 6 disks.
D. You create 1 raid group of 12 disks.

Correct Answer: B

QUESTION 5

In a Fibre Channel configuration, the host\\'s HBA is referred to as the , and the storage system\\'s HBA is
referred to as the

A. primary, secondary
B. initiator, target
C. secondary, primary
D. target, initiator

Correct Answer: B
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